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Question Number : 1 Question Id : 97103631867 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How does mass media influence society?

Options :

1 % Promotes critical thinking

,  Shapes public opinion

3w Limits access to information

4 » Encourages isolation



Question Number : 2 Question Id : 97103631868 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What is an example of an online teaching platform?

Options:

Tutorial class

5 % Traditional classroom

Laboratory session

4w Swayamprabha

Question Number : 3 Question Id : 97103631869 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Some students who do not speak often in class and who typically develop

1deas and questions m their minds before speaking are students.

Options :

Reflective

5 % Active



Non-academic

Shy

Question Number : 4 Question Id : 97103631870 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Learning objectives mean?

Options :

_— Learning experience

5 % Concise outcomes

. Academic achievement
3.

Intended learning outcomes

Question Number : 5 Question Id : 97103631871 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the following. which one 1s not considered in “White Hat’?

Options:

Feelings



Data gathering

Facts

Information needs

Question Number : 6 Question Id : 97103631872 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The modern pedagogical standards are not related to

Options:

1 % Learners- focussed process

Rigid teaching plan

Individual Students need

Learner diversity

Question Number : 7 Question Id : 97103631873 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How many domains of learning are identified by Benjamin Bloom ?

Options:



Two

’|_ e

> o Three
3 % Four
4 % Five

Question Number : 8 Question Id : 97103631874 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

As per Bloom'’s taxonomy. the objective of remembering refers to

Options :
Psychomotor
Affective

3 ¢ Cognitive
Social

4,

Question Number : 9 Question Id : 97103631875 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the following quadrants of SWAY AM. which one is not figured?

Options :

Video lecture

5 % E- content

_— Self-assessment tests

Podcasts

Question Number : 10 Question Id : 97103631876 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the following, which channel is broadcasting educational content of management

and library science and related subjects of the SWAYAM platform?
Options :

. Door Darshan
1.

Vageesh-1

Prabandhan-3
3.4

Kautilya-7



Question Number : 11 Question Id : 97103631877 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
How many quadrants are there in MOOCs?
Options :

1 % 1wo

Three

Four

Five

Question Number : 12 Question Id : 97103631878 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
What 1s the best advantage of a Choice Based Credit System of education?
Options :
Student-centric

1.

Flexibility for teachers



Content specific

Teacher-centric

Question Number : 13 Question Id : 97103631879 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The computer-based testing learning domain covers behaviour.
Options :

1 » Conative

, « Effective

3 ¢ Co gnifive

Psychomotor
4. %

Question Number : 14 Question Id : 97103631880 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The research activity pursuing based on observable facts 1s known as
Options :

Ethno methodology
1. %



Constructionist

Positivism

4 % Manipulative

Question Number : 15 Question Id : 97103631881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the purpose of using a Venn diagram m logic?

Options :
To confuse the audience

1. %

> To visualize logical relationships

3 % 1O simplify complex arguments

4 = Topresent factual evidence

Question Number : 16 Question Id : 97103631882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Experimental research is based on methodology.

Options :



Qualitative

Quantitative

Subjective

Contextual

Question Number : 17 Question Id : 97103631883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which type of research findings and conclusions are not generalised to

other situations?

Options :

1 Descriptive

Fundamental

Experimental

Historical

Question Number : 18 Question Id : 97103631884 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In the following approaches. which one 1s not quantitative research?

Options :

1 » Correlation

5 Ground theory

Experimental

Deductive

Question Number : 19 Question Id : 97103631885 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The National Literacy Mission was started in the year

Options :

1991

1. %

1947

1998

4 % 2000



Question Number : 20 Question Id : 97103631886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s the best remedy for the student’s problems related to learning?

Options :

Suggestion for private tuition

5 % Suggestion for hard work

Diagnostic teaching

Suggestion to go to the library

Is Section Default? : null

Question Id : 97103631887 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (21 to 25)



Read the Passage and answer the following questions:

If you wish to be a writer, you must learn to develop your own point of view. All good
writers make us see things in a different light. You may be writing about the same thing
as your classmates, but your presentation must reflect your personality and
individuality. There are so many interesting subjects you can write about in different
forms but here we will try to attempt writing short stories. There 1s a good market for
the following types: humorous stories. adventurous stories, domestic stories. and
mysterious stories and stories related to animals and strange experiences. Don’t worry
if your story turns out to be short-some of the stories are quite short. Be very careful
about the climax or end of the story. It must be what the reader fears. desires. expect or
best of all doesn’t expect. So, get down to 1t. Think of a plot-make pomts on how the
story will progress and pen it down.

Sub questions

Question Number : 21 Question Id : 97103631888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The most important thing about being a writer 1s that

Options:

You must have a pen and paper

) You must have a degree in writing

You must have a painful heart

You must learn to develop your own point of view
4.

Question Number : 22 Question Id : 97103631889 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The narrator advises the reader to write in order to

Options :

Eam a livelihood

,  Encourage him to become a writer

Make him famous among his people
3. %

Show his intelligence to others

Question Number : 23 Question Id : 97103631890 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A successtul writer’s presentation must reflect

Options :

| His personality and individuality

His hand writing

His showy nature
3. %

4 % His superiority to others



Question Number : 24 Question Id : 97103631891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The phrase ‘pen it down’ here means

Options :

1 = Togetdown

5> » Towrite

To throw the pen

To throw 1t down

Question Number : 25 Question Id : 97103631892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

According to the passage. what 1s essential for aspiring writers to learn?
Options :

Developing their own point of view
1.4
Writing about the same topics as classmates

Avoiding short stories

Following popular writing trends



Is Section Default?: null

Question Number : 26 Question Id : 97103631893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The fundamental function of SPSS software 1s

Options :

1 % To analyse quantitative data

> % Management reference tool

3 @ Statistical Package for analysing quantitative data

4 % Useftul for literature review

Question Number : 27 Question Id : 97103631894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Plagiarism in research refers to

Options :
Using previous data

5 % Quoting findings of others

3 ¢ Unscrupulously copying others works



4 Incorporating earlier findings of the research.

Question Number : 28 Question Id : 97103631895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the following. which one is considered a barrier of effective communication?

Options :

1 ¢ Differences of cultural aspects

> % Active listening

Clarity of message

Perfect information

Question Number : 29 Question Id : 97103631896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the following communication, which one 1s considered as interpersonal?

Options :

1 % Metaphorical

, % Philosophical



3 % It 1s not participating in friendly

4 It 1s both focused and unfocussed.

Question Number : 30 Question Id : 97103631897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following 1s not considered as verbal communication?

Options :

1 % Instruction

. Tordless Ss; .
5, « Wordless messages

5 « Practicals

4 % Online classes

Question Number : 31 Question Id : 97103631898 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the following. which one 1s not considered a subjective aspect of culture ?

Options:

1 % DBelief

, « Attitude



3  Language

4 % Values

Question Number : 32 Question Id : 97103631899 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The origin of the word communication is from

Options:

1 = Greek

> % German

3 @ Latin

4 w French

Question Number : 33 Question Id : 97103631900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Who 1s regarded as the father of reasoning?

Options :

1 = Plato



, % Rousseau

Montesquieu

4 » Aristotle

Question Number : 34 Question Id : 97103631901 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a college 400 students took a mock test. In that 60 percent of boys and 80 percent of

the girls cleared the cut off in the test. Suppose the total percentage of students clearing

the cut off in the test 15 65 percent, how many girls appeared in the test?

Options :

300

]
_h
=

[a—
n
)

100

Question Number : 35 Question Id : 97103631902 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

3.5.9.17. 33, . What is the next number?



Options :

Question Number : 36 Question Id : 97103631903 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
How many types of reasoning are there?
Options :

Four

1. %

5 ¢ IWo

3 % Three

4 % Five

Question Number : 37 Question Id : 97103631904 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Suppose AIRLINE is written as ENILRIA7, then RAILWAY will be written as
Options :

YAWILARS

YAWILAR?

2. %

3 v YAWLIAR?

, YAWLIARS

Question Number : 38 Question Id : 97103631905 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the following series 3W, 7V. 11U, 15T, What comes next?

Options :

1. % 22Q

195

197

Question Number : 39 Question Id : 97103631906 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

What 1s the sum of (71/105) and (71/420)?
Options :

% 83/84

, x 73/84

79/84

71/84

Question Number : 40 Question Id : 97103631907 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A car can finish a certain journey in 10 hrs at a speed of 48 kmph. To cover

the same distance in 8 hours. the speed of the car must be increased by
Options:

| 12 kmph

, % 15 kmph

3 % Okmph

7.5 kmph



Question Number : 41 Question Id : 97103631908 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Suppose the price of the commodity 1s increased by 50 percent and by what

fraction must its consumption be reduced to keep the same expenditure

consumption?

Options:

Question Number : 42 Question Id : 97103631909 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The selling price of a bicycle is Rs. 2.850 and the shopkeeper gains 14% profit.

Suppose the profit is reduced to 8%, then the selling price will be Rs.
Options:

2.600

1. %

, » 2.700



5 % 2.800

4 % 3.000

Question Number : 43 Question Id : 97103631910 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find out the simple imterest, when principal is Rs. 3,000 at the rate of 5%

per annum for 2 years?

Options :

\ v 300

N

#
L]
=
h

r_u
=
fad

Question Number : 44 Question Id : 97103631911 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A channel marked at a price Rs. 1,600 is available at a discount of 45%. What 1s the

discount given?

Options :

. 740



Question Number : 45 Question Id : 97103631912 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The average marks of 25 students 1s 18. The average marks of first 12 students is 14

and the average marks of last 12 students is 17. What is the 13% student result?
Options:

| % 69

o % 14

Question Number : 46 Question Id : 97103631913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following statements 1s ‘Contra positive” of ** All Whales are
Mammals™?

Options :

Some Whales are Mammals
5> % Some Mammals are Whales
- All non-Mammals are non-Whales

4 « All Mammals are Whales.

Question Number : 47 Question Id : 97103631914 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the following statement, which informal fallacy is committed?
Statement; We should not ban smoking because it 1s a personal choice and
people should have the freedom to do what they want.

Options :

False dilemma

Ad hominem
2. %

- Appeal to emotion

4, « Equivocation



Question Number : 48 Question Id : 97103631915 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A word or phrase that 1s understood by every person in a particular culture is

known as its

Options :

Denotation

Connotation

3 ¢ Sense

Reference

Question Number : 49 Question Id : 97103631916 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the following types of reasoning, in the conclusion the word ‘likely’ is used.

Options :

Inductive

5 % Deductive



Analogical

4« Syllogistic

Question Number : 50 Question Id : 97103631917 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Insect: Disease: War: /.
Options:

Arsenal

Defeat

Destruction

Army

Question Number : 51 Question Id : 97103631918 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What is the meaning of ‘pratyaksh” ?

Options :

Inference



5 Perception

5« Implied

Transcendental
4, %

Question Number : 52 Question Id : 97103631919 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In Indian logic. what 1s the meaning of *Anumana"?

Options :

- Determination

Credibility

Inference

Implication

Question Number : 53 Question Id : 97103631920 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the HTML. M refers to

Options :



Machine

- Markup

Margin

Micro

Question Number : 54 Question Id : 97103631921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The receiving emails appear in

Options :

Spam

1. %

, % Irash

3 @ Inbox

4% Archive

Question Number : 55 Question Id : 97103631922 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Internet standard protocol is

Options :

FTP

L x WWW

5 TCP/IP

. UDP

Question Number : 56 Question Id : 97103631923 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
In the following video-conferencing platforms. which one is popular?
Options:

Gmail

1. %

- Spotify

Google Drive

4 Zoom

Question Number : 57 Question Id : 97103631924 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The purpose of the intranet is

Options :

1% To facilitate online shopping

To make video calls

5« Toprovide unrestricted Access to information on the internet.

To allow communication within a specific company
4, &

Question Number : 58 Question Id : 97103631925 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

To improve Quality of research. the government has initiated a digital program

and 1t 15 called

Options :

| » National Knowledge Network

5 @ E-Shodh Sindu

3 % Swayam



E-PG pathshala

Question Number : 59 Question Id : 97103631926 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the following sections, which one deals with the punishment for cyber terrorism

as per IT Act 2000,

Options:

. 66F

, % 67B

.« 66B

45F

Question Number : 60 Question Id : 97103631927 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

*Joystick™ refers to device.

Options :

Output

1. %

5 % Storage



3 ¢ Input

Network

Question Number : 61 Question Id : 97103631928 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which organisation 1s established in India to promote . review. encourage.

assist and coordinate science research?

Options :
.« ICSSR
, » CSIR

NCAR

, » NCTE

Question Number : 62 Question Id : 97103631929 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the following gases. which one 1s not considered as ‘Green House Gas’

Options :

. » Methane



Nitrous oxide

Oxygen
3. ¢

4 » Carbon dioxide

Question Number : 63 Question Id : 97103631930 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The Environmental protection Act in India was enacted in the year

Options :

. = 1981

, % 1996

5 1986

4w 1995

Question Number : 64 Question Id : 97103631931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which type of pollution can cause respiratory problems ?

Options :



Acid rain

1. #

) o
» Smog

Ozone depletion
e

Eutrophication
E

Question Number : 65 Question Id : 97103631932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s the correct order of 3R principle?
Options:

Recycle, Reuse. Reduce

1. #

, % Reuse, Reduce.Recycle

5 » Reduce, Reuse, Recycle

4 » Recycle. Reduce.Reuse

Question Number : 66 Question Id : 97103631933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The Forest conservation Act was passed in the year

Options :

. % 1986

, w1990

. 1980

1988

Question Number : 67 Question Id : 97103631934 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

is an international treaty signed in 1987 to protect the ozone layer.

Options :

| % Ri0 Summit

Kyoto Protocol

Vienna convention

4 Montreal Protocol

Question Number : 68 Question Id : 97103631935 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Study the following Table and answer the questions from:

Total Number of Employees in different departments of an organisation and percentage of
females and males,
Department Total number of Percentage of Percentage of
employees females Males
IT 840 45 55
Accounts 220 35 63
Production 900 23 77
HR 360 65 35
Marketing 450 44 56
Customer Service 540 40 60

What 1s the total number of employees in all the departments together ?

Options :

% 3260

3020

Question Number : 69 Question Id : 97103631936 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following Table and answer the questions from:

Total Number of Employees in different departments of an organisation and percentage of
females and males.
Department Total number of Percentage of Percentage of
employees females Males
IT 840 45 55
Accounts 220 35 63
Production 900 23 77
HR 360 65 35
Marketing 450 44 56
Customer Service 540 40 60

What 1s the respective ratio of the number of females in production department
fo the number of females in the marketing department?

Options :

-2
r“u
- |
- |

I'JJ
[N}
r_,,J
h

Question Number : 70 Question Id : 97103631937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following Table and answer the questions from:

Total Number of Employees in different departments of an organisation and percentage of
females and males.
Department Total number of Percentage of Percentage of
employees females Males
IT 840 45 55
Accounts 220 35 63
Production 900 23 77
HR 360 65 35
Marketing 450 44 56
Customer Service 540 40 60

What 1s the total number of males 1n the IT and customer service departments together

Options:

L x 768

786

HINDI

Section Id : 971036454

Section Number: 2



Mandatory or Optional : Mandatory

Number of Questions : 70
Section Marks : 70
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 71 Question Id : 97103631938 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

qrfer Tore &g hr 9T e 2

Options :

r_l"_ﬂ EI-‘EI'-—
1. # L=%
2, # PRI
3 ol 5TH
4 % MR

Question Number : 72 Question Id : 97103631939 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Options :

e 59T

1. %



Question Number : 73 Question Id : 97103631940 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AT T I T TS 2
Options :

| v 500%. 1000 3. 7

5003 T 11003 TF

500 2. 9 1200 . dF

4 % 5003 13003 TH

Question Number : 74 Question Id : 97103631941 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

STl o1 59 e ° THT AT S 2

Options :



1 % 900 %. % AR

5 « 1000 3. F AT

3 % 1100 3. = ST

4 % 12003, % SO

Question Number : 75 Question Id : 97103631942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AT F ThaT 9= € 2

Options :

Question Number : 76 Question Id : 97103631943 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Te=21 =1 ST B T T4 " SRR =87 T3 2

Options :

| 14 TR 1949 1
14 TITR 1950 =

|5 =T 1951 =

4 % 20 TR 1952 0

Question Number : 77 Question Id : 97103631944 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T JEIF 96 T81 & |° 78 A1 {56 il <l d T g 2

Options:

1. % H:EH

. AT FTA
2. %
3, v T

4 % “::[.-{'PI E NI ﬂq%ﬁ

Question Number : 78 Question Id : 97103631945 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AT TH=5 I  SRITST hTed 1 T9 el A Fel 9 A1 € 2

Options:

1@ 1050 — 1375

> % ¥ 1050 - 1980

5 % ©. 10001300

4 % dq. 1100 - 1400

Question Number : 79 Question Id : 97103631946 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Options :

2, v TN



Question Number : 80 Question Id : 97103631947 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Hed derd &1 YaR e ferar 2

Options :

Question Number : 81 Question Id : 97103631948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

SR 0T =hT O8T TohaT 2 2
Options:

1. % 10



Question Number : 82 Question Id : 97103631949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

=99 T F 1 {Tdelg Fig 781 € ?

Options :

1, % e e

Question Number : 83 Question Id : 97103631950 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T 9T T 9T el & o @h hiae 2

Options :

® ele F’EI EIHE

1.

, o TS0 TSTaveTe THE TOan &=



Question Number : 84 Question Id : 97103631951 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Options :

1.4

-2 BHEES

2. %

3 . J I-I: e ; 1 .I'_. :

4w TR Tg4d]

Question Number : 85 Question Id : 97103631952 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ST 3U=ATAT 1 E=al H STRH F 1 244 (56 ol@a 3 (537 a1 2

Options :

CEEARCEREE)

1. #

5, % STH HRIR

]i ICGEARS R EEHI



Question Number : 86 Question Id : 97103631953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Te=21 o Tore SUITEahR il SRS FUToIaTe 7 f=o7 i 37 9 fear <iar & 9

Options :

TS T cATe JH1
3. % °

;-'1 -_-I "-JE ] ar {

Question Number : 87 Question Id : 97103631954 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

I FET 9T FEHT o d T E 2
Options:

| % UHES

E IE.]II: '[ .-; E‘“ 3.



a‘ﬁ%ﬂ . r "..:l'..-'.-u

Question Number : 88 Question Id : 97103631955 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

et 997 =1 7908 FerHT SA1=Te 3 Y=dsh 9HT ST E 2
Options :

(&1

1. SR

T9FTAT FEI
2_ w

3, % ¢ G Tk

UL Ml

Question Number : 89 Question Id : 97103631956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

5 T 125 o o FIAE 2

Options :

1. % ]:|- R E -3..191



Question Number : 90 Question Id : 97103631957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AN Pl e o o g 2
Options :
1. % THHS E:'-IE

2.4 % 1S T

EIE | Jl:lo’llﬂﬁlf‘-l

Question Number : 91 Question Id : 97103631958 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

“FHHTIAT T T aaR T8 o oi@a i ¢ 2



Options :

e

Question Number : 92 Question Id : 97103631959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

TRl o T T Tecash [ AT ol €
Options :

1. % 18 -;:1{,'_’[|I-| Tﬂ_-':l_f

Question Number : 93 Question Id : 97103631960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



T e TR =T ST _bT ?
Options :
- TooT TRt

w0

). TV S I I

Question Number : 94 Question Id : 97103631961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T Y= F Yo A= FTIH FETE 2

Options :

Question Number : 95 Question Id : 97103631962 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AADE TG 7 TFdeh il 919 9d13 2

Options :

Question Number : 96 Question Id : 97103631963 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

TTETROTTRA0T 7 T4 399 ° fohd € 2

Options :

| & TSR AR

5 % T SR

3 Hidshed <A

4 % =T IR



Question Number : 97 Question Id : 97103631964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AT T 1T =T ATHT o AT T SR 572
Options :

.
HIHTH Th—d<h
~3

1. %

5w ST AT
5. % HEPTEES

Question Number : 98 Question Id : 97103631965 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

“Tafect & wiigs 9 22

Options :



Question Number : 99 Question Id : 97103631966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Ta=F fagia & 9idaes Fi9 8 2

Options :

Question Number : 100 Question Id : 97103631967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

HTATTHAT Tt & S e@F Fia e 2

Options :



Question Number : 101 Question Id : 97103631968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T RIgIa”  Widures i € 2

Options :

5, v 9T T

Question Number : 102 Question Id : 97103631969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Options :

(. % TSI AIET T

FETEES I



THT 2T T d|
3 S H ol Hi4dd]

=TT g

Question Number : 103 Question Id : 97103631970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Options :

1.%5 . i - I.]' I'_ Ir

AT Ty 0T TH
2. %

3 & AR IEH

v TEdR TS fgaer

Question Number : 104 Question Id : 97103631971 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

farfera =1, T3 1, T T T o e o
Options:

|« S AR S



2 % Oe T TEAT

SATEL o] 2%

4. TR Il

Question Number : 105 Question Id : 97103631972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

TAITIIIUETE o Yadeh i & 2

Options :

T T 7

|{Ii I'.‘_'rB-.iIEI‘\J
2.¥
3. % PR
4. %

Question Number : 106 Question Id : 97103631973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

=fedd Ol T TI<ZJ9E” & ig® FHE 2

Options :



o STAYETS FoH

Question Number : 107 Question Id : 97103631974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

HfsrAahifehet” fF FRTSETE 2

Options:
IEEIVIG]

1.+

2. % T

Question Number : 108 Question Id : 97103631975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Few Fr At F e TR I g Tg 2 2

Options :
Hdds

1. %

5 SIS

Question Number : 109 Question Id : 97103631976 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

THHEA] T & hid T E 2

Options :

% ~-:'-- i U

1.

2. %

4w TR I

Question Number : 110 Question Id : 97103631977 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

G T AT = i A E 2
Options :

1

5w AT T e g

4. u = .-"F - :II:
Question Number : 111 Question Id : 97103631978 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

SO ShieIdT = i T AT T 2 2

Options:

| x T
2. v

3. % TS



Question Number : 112 Question Id : 97103631979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

=15 =l 98 2G1 & 1A T (% Hid 1 & 2

Options :

e

Question Number : 113 Question Id : 97103631980 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ST FH 3GF A1 Fiddr fhag Fa 122

Options :

1. #



Question Number : 114 Question Id : 97103631981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T STE=R 3U=IR o oRdeh i © 2

Options :

egeh e Gl

]-” :”(_: J\|E| T Eqil

ifEd ITAFT 93

ST THE Uy

Question Number : 115 Question Id : 97103631982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

TAdT T 3= FT I 2

Options :

1, % HA¥E



Question Number : 116 Question Id : 97103631983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

"I U ST 3T ] ThEE a9 & -

Options :

1w 194L7%.
, % 19513
3 % 1957.3
4 % 1959.3

Question Number : 117 Question Id : 97103631984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

TS T T o0 ST H S 2

Options :

2y . .-'_ 5



3 % GREGIRIUI

Question Number : 118 Question Id : 97103631985 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“SATTRT ST 30=AT T TR Tt o7 =T o T € 2

Options:

| % U faare =i aaE

o TR FEITd o S=al Sl T

4. . : P F ll .-jd aﬂ_rt
Question Number : 119 Question Id : 97103631986 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

U A" ITART ol TR T © 2
Options :

| o T



Question Number : 120 Question Id : 97103631987 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AT TH=E YA A (508 M1 Al (el 1 Tgell Ferl JHTE 2
Options :

1. %

3GHr
|

2. %

4 % TG T T

Question Number : 121 Question Id : 97103631988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

GEHA S TR T AE® T T 2



Options :

."'IF ; .' (s Gr — I:

Question Number : 122 Question Id : 97103631989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

e g T FT I & 2

Options :

9IS & adTe]

4.{‘/ = EI

Question Number : 123 Question Id : 97103631990 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

“HATHISIEIT SheMT & vidsh FIT & 7

Options:

Question Number : 124 Question Id : 97103631991 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

=9 ¥ 9Rd s W ot Far #9189

Options :

| x OTR T FHA

5 % Il AT
. 0T aad T

3.

4. % ATl

Question Number : 125 Question Id : 97103631992 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Ffeshr fear fear 9 vyata 9e% & igF HiT 7

Options :
Fi s Y _'ll
1.+ T 3 ez

2. % SELSSIEAFEE

4 % W3 TEE A

Question Number : 126 Question Id : 97103631993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Options:

P SUERUE C

ST — HEF

3. ¢

HET AT



Question Number : 127 Question Id : 97103631994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Options:

1 . =Y f F F

5 % UfdeTe e

TS ATeF

Question Number : 128 Question Id : 97103631995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ST T T TR ] AT AT © 2

Options:

| o AT

3. ] g[ .'::ll '-'_.ﬂ.'

4% = S T



Question Number : 129 Question Id : 97103631996 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

T T T T 186 © 2

Options :

1 u ?:F _r-r. r [a?

2 Ik 39

3 x SUTEATY HYF

4.2_’5 ] E.l \:-JE.I

Question Number : 130 Question Id : 97103631997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

q. ST g T 27 o Tl Heieehr o 2

Options :

[ :"-. :‘—rqn-'l-l'
1. % =



Question Number : 131 Question Id : 97103631998 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
‘r.a.-i :Elil.]l.h 5 -Iiﬂ.' i;.l'ﬂ"-j-i- _-Fl- II}-E - "-:I.'Ilﬂl _ET r}
Options :

2 . .-|:. . Flr:

3. ¥ o w3

"::I 'I'I :i 1|1:|-r]-5, F\ﬂlﬂ;#‘_‘
Question Number : 132 Question Id : 97103631999 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

=T T AT T T ] e S ar e 2

Options :

| T e

2. % :



Question Number : 133 Question Id : 97103632000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

=9 O AfeAd HaFR FHE T 2
Options :

1. ® 'Tj:l -.—I Ec;l ql]:l-,—la E :...-F.(_r-l

EBIEEIREE]
2.

GIRE A
3. #
4, » TN

Question Number : 134 Question Id : 97103632001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Options :

1. %



IIW?S{{?HI-I FTEIT

2. #®

3. v AT gSRT 901G fgae]

eI AT
) w5

Question Number : 135 Question Id : 97103632002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Options :

4 TIETRE o

Question Number : 136 Question Id : 97103632003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

“UF Qe i SR & TR T 2
Options:

1.



“ HId ‘*T'SI"'-'T HA T

TSI AT Hfeielrer

3, % THTRCAEA

| TR

Question Number : 137 Question Id : 97103632004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Options :

. 99 9ITg

1.
5 x [T S

Question Number : 138 Question Id : 97103632005 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



T & T dF * o @G F FITE 2

Options :

1 % f’_;; :I:I._-_. g—q I’}R

N EREIETIEE
2. v (SOHIRE

N ECEEESEIREL
3, % G 3

j o T A

Question Number : 139 Question Id : 97103632006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Options :

GG BRI
1. % =2

o



Question Number : 140 Question Id : 97103632007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

MATFAIRTFFTL 2

Options :



